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SOCIAL SCIENCE
lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku

Time allowed : 3 hours Maximum Marks: 80

fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 80

General Instructions :

(i) Answer to questions carrying 2 marks should not exceed 30 words each.

(ii) Answer to questions carrying 4 marks should not exceed 60 — 80 words each.

(iii) Answer to questions carrying 6 marks should not exceed 100 — 125 words each.

(iv) Maps should be securely tied in the middle of the Answer-Book.

(v) Attempt all parts of a question together.

(vi) Stencils or templates for drawing outline maps may be used wherever necessary.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA

(ii) 4 vadksa okys izR;sd iz'u dk mÙkj 60 ls 80 'kCnksa ls vf/kd u gksA

(iii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA

(iv) ekufp=kksa dks mÙkj&iqfLrdk dh chp esa etcwrh ls ckaf/k,A

(v) fdlh iz'u ds lHkh Hkkxksa ds mÙkj lkFk&lkFk nhft,A

(vi) tgk¡ dgha vko';d gks LVSaflyksa vFkok lkapksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k tk

ldrk gSA

Roll No.

Series RKM/2 Code  No. 32/2/1
Please check that this question paper contains 7 printed pages + 3 Maps.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
Please check that this question paper contains 24 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 + 3 ekufp=k gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 24 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-
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1. Write any four direct advantages of forests. 4×½=2

ouksa ds dksbZ pkj izR;{k ykHk fyf[k,A

2.  State four steps which have been taken by the government to promote private sector. 4×½=2

futh {ks=k dks c<+kok nsus ds fy, ljdkj }kjk mBk, x, pkj mik;ksa dk mYys[k dhft,A

3. State any four precautions needed to be taken at the time of entering a damaged

 building. 4×½=2

{kfrxzLr bekjr esa izos'k djrs le; fdUgha pkj vko';d lko/kkfu;ksa dk mYys[k dhft,A

4. Explain any two objectives of ‘Swadeshi Movement’. 2×1=2

^Lons'kh vkanksyu* ds fdUgha nks mís';ksa dks Li"V dhft,A

5. Explain the main contributions of Bhakti Movement. 2×1=2

Hkfä vkanksyu ds eq[; ;ksxnkuksa dh O;k[;k dhft,A

6. How have synthetic fibres revolutionised the textile industry in India ? Explain with two
examples. 2×1=2

Hkkjr esa Ñf=ke js'kksa us oL=k m|ksx esa fdl izdkj ØkfUr yk nh gS \ nks mnkgj.kksa lfgr Li"V dhft,A

7. Why is it necessary to chalk out a strategy for social development ? Give two reasons.2×1=2

lkekftd fodkl ds fy, j.kuhfr cukuk D;ksa vko';d gS \ nks dkj.k nhft,A

8. Identify and name the Indian national leader shown in the picture given below. State
any two of his contributions in promoting Indian Nationalism. 1+1=2

uhps nh xbZ Hkkjrh; jk"Vªh; usrk dh rLohj dks igpkfu, vkSj mldk uke fyf[k,A Hkkjrh; jk"Vªh;rk
dks c<+kok nsus esa muds fdUgha nks ;ksxnkuksa dk mYys[k dhft,A
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Note : The following question is for the Blind Candidates only in lieu of Q.  No. 8.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 8 ds LFkku ij gSA

State any two contributions of Dadabhai Naoroji to promote Indian Nationalism. 2×1=2

Hkkjrh; jk"Vªh;rk dks c<+kok nsus esa nknkHkkbZ ukSjksth ds fdUgha nks ;ksxnkuksa dk mYys[k dhft,A

9. “The Gupta period saw the flowering of ancient Indian culture.” Prove this statement
with two examples. 2×1=2

^^xqIr dky esa izkphu Hkkjrh; laLÑfr [kwc Qyh&QwyhA** nks mnkgj.kksa lfgr bl dFku dks fl)
dhft,A

10. “The location of the Iron and Steel industry is governed by its close proximity to raw
materials.” Give two arguments in favour of this statement. 2×1=2

^^yksgk vkSj bLikr m|ksx dh fLFkfr mlds dPps eky dh fudVrk ls fu;af=kr gSA** bl dFku ds i{k
esa nks rdZ nhft,A

11. “The problems of the aged people are growing very fast in India.” Justify this statement
with two examples. 2×1=2

^^Hkkjr esa o`) yksxksa dh leL;k,¡ cM+h rsth ls c<+ jgh gSA** nks mnkgj.kksa lfgr bl dFku dh rdZlaxr
iqf"V dhft,A

12. Suppose   you   are   the   ‘District   Magistrate’   of  a   particular   district.   How   will   you
administer relief responsibilities in your jurisdiction ? 2

ekuk fd vki fdlh ftyk fo'ks"k ds ^ftyk eftLVsªV* gSaA vki vius vf/kdkj&{ks=k esa jkgr ds
mÙkjnkf;Ro dk fdl izdkj fuokZg djsaxs \

13. What were the major achievements of Arya Samaj in the social and educational fields ?
2+2=4

OR

State any four contributions of the Press in India during the nineteenth century. 4×1=4

vk;Z lekt dh lkekftd vkSj 'kSf{kd {ks=kksa esa izeq[k miyfC/k;k¡ D;k&D;k Fkha \

vFkokvFkokvFkokvFkokvFkok

méhloha 'krkCnh esa Hkkjr esa izSl ¼lekpkj&i=kksa½ ds fdUgha pkj ;ksxnkuksa dk mYys[k dhft,A
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14. Write any four uses of manganese ore. Also name the four major producing states of
manganese ore.  2+2=4

eSaxuht v;Ld ds dksbZ pkj mi;ksx fyf[k,A eSaxuht v;Ld ds pkj izeq[k mRiknd jkT;ksa ds uke

Hkh crkb,A

15. Write two main features each of General Assembly and Security Council as the major
organs of the United Nations. 2+2=4

la;qä jk"Vª ds nks izeq[k vaxksa & egklHkk vkSj lqj{kk ifj"kn~ dh nks&nks eq[; fo'ks"krk,¡ fyf[k,A

16. Explain any four major problems associated with food security in India. 4×1=4

OR

Explain any four technological reforms made in Indian agriculture after Independence.4×1=4

Hkkjr esa [kk| lqj{kk ls tqM+h fdUgha pkj izeq[k leL;kvksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

Lora=krk ds ckn Hkkjrh; Ñf"k esa fd, x, fdUgha pkj izkS|ksfxdh; lq/kkjksa dks Li"V dhft,A

17. Explain any four major problems faced by road transportation in India. 4×1=4

Hkkjr esa lM+d ifjogu dh fdUgha pkj izeq[k leL;kvksa dks Li"V dhft,A

18. Explain four major programmes adopted by the government to generate employment
opportunities in India. 4×1=4

OR

What is the meaning of ‘unemployment’ ? Explain any three causes of unemployment in
India. 1+3=4

Hkkjr esa jkstxkj l`tu ds fy, ljdkj }kjk viuk, x, pkj izeq[k dk;ZØeksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

^csjkstxkjh* dk D;k vFkZ gS \ Hkkjr esa csjkstxkjh ds fdUgha rhu dkj.kksa dks Li"V dhft,A

19. “Communalism is a threat to our national unity.” Support this statement with four
facts. 4×1=4

^^lkEiznkf;drk gekjh jk"Vªh; ,drk ds fy, ?kkrd gSA** pkj rF;ksa ds lkFk bl dFku dh iqf"V
dhft,A

20. Explain any four protection measures of buildings in flood prone areas. 4×1=4

ck<+xzLr {ks=kksa esa bekjrksa dh lqj{kk ds fy, fdUgha pkj lqj{kk mik;ksa dks Li"V dhft,A
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21. Describe any six methods adopted by the ‘Revolutionaries’ to achieve freedom. 6×1=6

OR

Describe any six points about the ‘Massacre’ of Jallianwala Bagh. 6×1=6

^ØkfUrdkfj;ksa* }kjk Lora=krk izkfIr ds fy, viuk, x, fdUgha N% rjhdksa dk o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

tfy;k¡okyk ckx ^gR;kdkaM* ds ckjs esa fdUgha N% fcUnqvksa dk o.kZu dhft,A

22. How does ‘land degradation’ take place through human activities in India ? Explain any
three measures to control this degradation. 3+3=6

OR

Explain any six reasons responsible for the increasing scarcity of water in India. 6×1=6

Hkkjr esa ekuoh; fØ;kdykiksa }kjk ^Hkw&{kj.k* fdl izdkj gksrk gS \ bl izdkj ds Hkw&{kj.k dks jksdus
ds fdUgha rhu mik;ksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa ty dh c<+rh gqbZ deh ds fy, mÙkjnk;h fdUgha N% dkj.kksa dks Li"V dhft,A

23. Explain four factors responsible for the exploitation of consumers.  What is the main
difference between Bureau of Indian Standards (BIS) and Agmark ? 4+2=6

OR

Who is a consumer ? Explain five duties of consumers. 1+5=6

miHkksäk ds 'kks"k.k ds fy, mÙkjnk;h pkj dkjdksa dks Li"V dhft,A Hkkjrh; ekud C;wjks
¼ch-vkbZ-,l-½ vkSj ,XekdZ esa eq[; vUrj D;k gS \

vFkokvFkokvFkokvFkokvFkok

miHkksäk dkSu gS \ miHkksäk ds ik¡p dÙkZO;ksa dks Li"V dhft,A

24. (a) (i) On the given political outline map of India (on page 8) the place is shown by
No. 1, where the first Congress Session was held in 1885. Write the correct name
of this place on the line drawn on the map.

(ii) On the same map of India (on page 8) shade and name the state where the
‘rock-cut temples’ are situated in Mahabalipuram. 1+1=2

(b) On the given political outline map of India (on page 9) are shown four
geographical features A, B, C and D. Identify these features with the help of the
map key and write their correct names on the line marked against each in the map.4×1=4

OR
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On the given political outline map of India (on page 10) locate and label the following
geographical features : 4×1=4

(i) Coimbatore — Cotton Textile Centre

(ii) Mathura — Oil Refinery

(iii) Kakrapara — Nuclear Power Station

(iv) Mangalore — Sea-port

(v) (i) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 8 ij½ esa la[;k 1 }kjk ml LFkku dks
fn[kk;k x;k gS tgk¡ lu~ 1885 esa dkaxzsl dk igyk vf/kos'ku gqvk FkkA bl LFkku dk lgh
uke ekufp=k ij [khaph xbZ js[kk ij fyf[k,A

(ii) HkkjrHkkjrHkkjrHkkjrHkkjr ds blh ekufp=k ¼i`"B 8 ij½ esa ml jkT; dks Nk;kafdr dhft, vkSj mldk uke
fyf[k, tgk¡ egkcyhiqje esa ^pêku&dkV eafnj* fLFkr gSaA

(c) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 9 ij½ ij pkj HkkSxksfyd y{k.k d] [k] x vkSj
?k fn[kk, x, gSaA ekufp=k esa nh xbZ dqath dh enn ls bu y{k.kksa dks igpkfu, vkSj ekufp=k
esa izR;sd ds lkeus nh xbZ js[kk ij muds lgh uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 10 ij½ ij fuEufyf[kr HkkSxksfyd y{k.kksa dh
fLFkfr fn[kkb, vkSj muds uke fyf[k, %

(i) dks;EcVwj — lwrh&oL=k dsUnz

(ii) eFkqjk — rsy ifj"dj.k'kkyk

(iii) dkdjkikjk — ukfHkdh; 'kfä dsUnz

(iv) eaxykSj — leqnzh&iÙku

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 24
(a) and (b).

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ¼v½ vkSj ¼c½ ds LFkku

ij gSA

(i) Where was the first Congress Session held in 1885 ?

(ii) Which place is famous for ‘rock-cut temples’ in Tamil Nadu ?

(iii) Which is the leading state in cotton production ?

(iv) Name the Southern Terminal Station of North-South Corridor.

(v) Name the international airport located in Tamil Nadu.

(vi) Name the Software Technology Park located in Madhya Pradesh. 6×1=6
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(i) lu~ 1885 esa dkaxzsl dk igyk vf/kos'ku dgk¡ gqvk \

(ii) rfey UkkMw esa ^pêku&dkV eafnj* ds fy, dkSulk LFkku izfl) gS \

(iii) dikl mRiknu esa vxz.kh jkT; dkSulk gS \

(iv) mÙkj&nf{k.k xfy;kjs dk nf{k.kh vfUre LVs'ku dkSulk gS \

(v) rfey ukMq esa fLFkr vUrjkZ"Vªh; ok;q&iÙku dk uke crkb,A

(vi) e/; izns'k esa fLFkr lkW¶Vos;j izkS|ksfxdh ikdZ dk uke crkb,A



832/2/1



9 P.T.O.32/2/1



1032/2/1


